Efficiency vs P,

~0.057
o F
L0.045F -+ e]rirerrer b
> F
0 0.04F -+ i e
] E
D035+ i+ eeeerebe e
o E
0,03 -+f-{iffwieremereesbo s
0.025F | freiveeeererebor e
0.02E-+}{-- feeeeneeens AR
0.015F- oo fieeeeeseeehnniins .
0.0+ é * -------- e e
0.005F- -+ gf*++..-. ......... S
o ERNS N b +
I r : i :
nd [ B
1_—- , Eqr-qr ---------------------
Qiﬁ ; 10 :2 8
Hp. (Gevf

=0.05 -
o R
R s A A

) é : : : : :
R T S S S A |
o o : : : : :
£.035F -+ Prrsssrsdacacaces Prreeeesdneeeeete e :
] E : : : . .
O R S e Al
0,025 b oer b b g
I
0,015 Affi g i frien .
E il : : : ;
0.0%E- -~ it~ 14| T
F : <N H |
0.005;—---- VR R R S R R
o ;.\,Of""'""""'i"""""""
g
o [

T
R
:
%
;
:
T
H
o
:
:
:
;
;

0.95

Efficiency vs ¢

=0.02

o B i oiobhh
S S S A
%) o . . : : :
T R L o Rt
o o : : : : :
] R AR AU S o
(9] . . . .

0.012Ff i

ORI T1TR A RO R
o008t T+ 415745 L
0.008ff [ H-H1-F-44— - |
0.004f 11| 4 T

0,002 {44 F

1.0 H

Ratio

il o 2 2 b = 2 a3 a R -2




	Contents
	Page 1


